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sIff M * ljifo M lj1fg tyf k|ljlw 

 

Group 'A' 

tnsf k|Zgsf] pko'St ljsNkdf l7s -√_ lrx\g nufpg'xf];\ .  Tick -√_ the correct alternative for 

the given questions.       (151=15) 

1= lbOPsf dWo] k|of]uzfnfleq ug'{kg]{ k|of]ufTds sfo{ s'g xf] < Which of the given practical work 

should be done inside the lab ?  

A. Kofhsf] sf]ifsf] :nfO8 agfO{ dfOj|mf]:sf]kdf cjnf]sg ug]{ Preparing onion slide and 

observing it under microscope 

B. :ynut e|d0f u/L k|fs[lts ;|f]tsf] klxrfg ug]{  Identifying the natural resources from field 

trip 

C. :yfgLo ;fdfu|Lsf] k|of]u u/L k/df0f' ;+/rgfsf] df]8]n tof/ kfg ]{ Preparing the model of the 

atom using the local materials 

D. r6\6fgsf] cWoog u/L ltgsf] u'0f klxrfg ug]{ Studying  rocks and explore their properties 

 

2= Ps hgf JolSt OG6/g]6 / df]afOn a}ª\lsªsf k|of]ustf{ /x]5g\ . ltgsf] df]afOn k6s k6s 

cfkm}F nuOg x'g] ;d:of x6fpg ltgn] pSt Pkdf c6f] kf;j8{ ;]e cK;g /fv] . o:tf] cj:yfdf 

ltgsf] df]afOndf ug{ ;lsg] ;a}eGbf ;'/lIft pkfo s] x'g ;SYof] < A person is user of Internet 

and mobile banking. Due to hassle of logging in repeatedly he used auto password save option in the 

application, what may be the safest way to use in this situation in his mobile? 

A. kmfo/jfnsf] k|of]u Use firewall 

B. PlG6efO/; ;ˆ6j]o/sf] k|of]u Use antivirus software 

C. Affof]d]l6«s cy]lG6s];g ljlwsf] k|of]u Use biometric authentication measure 

D. ;'/lIft a|fph/sf] k|of]u  Use a secure browser 

3= jg:klt sf]ifsf] ;a}eGbf aflx/L kq s'g xf] < Which is the outermost layer of the plant cell? 

A. Eofs'n/ lemNnL Vacuolar Membrane 
B. Go'lSno/ d]Da|]g Nuclear Membrane  
C. sf]if leQf Cell wall 
D. sf]if lemNnL Cell membrane 
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4. lbOPsf] s'g egfOn] d]?b08 ePsf / gePsf hgfj/lar km/s b]vfpF5 < Which of the 

following statements show a difference between invertebrates and vertebrates? 

A. d]?b08 ePsf hLjdf /ftf] /ut x'G5 . Blood is red in vertebrate animals. 
B. d]?b08 ePsf hgfj/df /ut /ftf] x'Fb}g . Blood is not red in invertebrate animals. 

C. d]?b08 gePsf hgfj/df ;fwf/0f cfFvf x'G5 . Presence of simple eye in invertebrate. 

D. d]?b08 ePsf hgfj/df ;+o'St cfFvf x'G5 . Presence of compound eye in vertebrates. 

5. tnsf] b'O{ ;d"xdf la?jfdf x'g] ljleGg sfo{ / tL sfo{df ;xof]u ug]{ efux?sf] gfd lbOPsf 

5g\ . Some functions in plants and the parts related to those functions are presented in the two 

columns given below, 

la?jfdf  x'g] sfo{x¿ 
Functions in plants 

;xof]uL efu 
related parts 

a. vfgf agfpg ] Preparation of food  i. sf08 Stem 

b. k/fu;]rg Pollination ii. h/f Root 

c. kl/jxg Transportation   iiii. kft Leaf 

d. zf]if0f Absorption  iv. k"mn Flower 

 
la?jfdf x'g] sfo{ / ;f] sfo{df ;xof]u ug]{ efusf] pko'St hf]8fx¿sf] ;d"x s'g xf] <Which is the 

correct set of pairs of activities in plants and the part that help for that activity?  

A. a-iii, b-iv, c-i, d-ii     
B. a-iv, b-i, c-ii, d-iii  
C. a-iii, b-ii, c-i, d-iv  
D. a-ii, b-iii, c-iv, d-i 

6. 7f]; kmf]x/ Joj:yfkgcGtu{t 36fpg ] -Reduce_ k|lj|mofsf] pbfx/0f lbOPsf dWo] s'g xf] < Which 

of the following is an example of reduce process of the method of solid waste management ? 

A. kmf6]sf] sk8fsf] k'5\g] 6fnf] agfpg ]  Using old clothes for wiping 

B. k'/fgf] sfuhaf6 gofF sfuh agfpg] Making new paper from the old paper  

C. ;fdfg lsGg hfFbf cfˆg} emf]nfdf /fv]/ Nofpg] Bringing the goods in our own bag while 

shopping 

D. 6'6]km'6]sf Knfl:6ssf ;fdfgaf6 km]l/ c¿ gofF ;fdfg agfpg ] Making new goods from 

broken plastic items  

 

7. uf8L 'A' n] b'O{ 306fdf 40 Km b'/L kf/ u/]5 eg] uf8L 'B' n] kfFr 306fdf 100 Km b'/L kf/ u/]5 

. o;;DaGwL tnsf] s'g egfO ;xL 5 < If vehicle 'A' covers 40 Km in two hours and vehicle 'B' 

covers 100 Km in five hours. Which of the following statement is correct?  

A. uf8L 'A' sf] ult, uf8L 'B' sf] eGbf a9L 5 . Vehicle 'A' has more velocity than vehicle 'B'.  

B. uf8L 'B' sf] ult uf8L 'A' sf] eGbf a9L 5 . Vehicle 'B' has more velocity than vehicle 'A'.  

C. b'j} uf8L 'A' / 'B' sf] ult a/fa/ 5 .  Both vehicles 'A' and 'B' have equal velocity. 

D. b'j} uf8L 'A' / 'B' sf] ult z"Go 5 .  Both vehicles 'A' and 'B' have zero velocity. 
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8. t/ª\usf] cfj[lQsf] SI PsfO s'g xf] < What is the SI unit of the frequency of the wave ?  

A. ld6/ meter 

B. ld6/÷;]s]G8 meter/second 

C. 8]l;an decibel 

D. xh{ hertz 

 

9 . olb lbOPsf] lrqdf sf]0f T = 40º 

eP k/fjlt{t sf]0f r sf] dfg slt 

xf]nf < If  angle T = 40º, what is 

the value of reflected angle r ?     

A. 180º 

B. 90º 

C. 60º 

D. 40º 

 

10. Pp6f ;]nsf] wgfTds w'|jnfO{ csf]{ ;]nsf] C0ffTds w'|j;Fu hf]8]/ ul/Psf] ;]nsf] ;d"xLs/0f 

tn lbOPsf] dWo] j'mg xf] < Which of following is the combination of cell in which the positive 

terminal of one cell is connected with negative terminal of another cell and so on ? 

A. >]0fLj|md h8fg Series combination 

B. ;dfgfGt/ h8fg Parallel combination 

C. ldl>t h8fg Mixed combination 

D. ;/n /]vLo h8fg Linear combination 

 

11. 9'ª\uf kfgLdf lsg 8'A5 < Why does a stone sink in water?     

A. kfgLsf] 3gTj 9'ª\ufsf] 3gTjeGbf a9L eP/ Water has more density than stone.  

B. 9'ª\ufsf] 3gTj kfgLsf] 3gTjeGbf a9L eP/ Stone has more density than water. 

C. 9'ª\uf / kfgLsf] 3gTj a/fa/ eP/ Stone and water has equal density.  

D. 9'ª\ufsf] 3gTj z"Go eP/ Stone has zero density. 
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12. lrqdf s]xL k/df0f'sf Go'lSno;x¿ b]vfOPsf 5g\ . tLdWo] kf/df0fljs ef/ !^ x'g] tŒj s'g 

xf] < Nucleus of some atoms are shown in the diagram given below. Which of them has atomic 

weight 16?  

 

                        

          

A. Element (tŒj) i 

B. Element (tŒj) ii 

C. Element (tŒj) iii 

D. Element (tŒj) iv 

 

13. tnsf dWo] s'g of}lus xf] < Which of the following is a compound?  

A. clS;hg Oxygen  
B. tfdf Copper 
C. kfgL Water  
D. kmnfd Iron 

14. bfjfn] ln6d; k]k/ lnP/ s]xL 3/fo;L /;fogx¿ k/LIf0f u/L tnsf] tflnsfdf glthf e/] . 

o; j|mddf pgn] b'O{cf]6f k/LIf0fsf] glthf q'l6 e/]sf /x]5g\ . Dawa tested some chemicals 

used in daily life with the help of litmus paper and recorded the result in the following table. He 

made two mistakes while keeping records.   

k/LIf0f 

Test 
/f;folgs kbfy{ Chemicals 

k|of]u ul/Psf] ln6d; 

k]k/ Litmus paper 

used  

glthf Result 

1 sfutLsf] /; Lemon juice /ftf]  Red 
lgnf ] Blue 

2 r's cldnf] Vinegar lgnf] Blue 
/ftf] Red 

3 ;fa'g Soap /ftf] Red 
lgnf] Blue 

4 v/fgL Ash lgnf] Blue 
/ftf] Red 

s'g s'g k/LIf0fsf] glthf ;xL 5 < Which test results are correct? 

A. k/LIf0f (Test) 1 / 2  
B. k/LIf0f (Test) 2 / 3   

C. k/LIf0f (Test) 3 / 4 

D. k/LIf0f (Test) 1 / 4  

n º =8 nº =7 nº=6 nº=5 

Element (tTj) i Element (tTj) ii Element (tTj) iii Element (tTj) iv 
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15. tnsf dWo] cDnjiff{sf] c;/ sd b]lvg] If]q s'g xf] < Which of the following is the least 

impacted area by the acid rain? 

A. hnLo hLjsf] x|f; Degradation of aquatic animals 

B.  :ynLo hLjsf] x|f; Degradation of terrestrial animals 

C.  lkpg] kfgLsf] x|f; Degradation of drinking water 

D.  ;f+:j[mlts ;Dkbfsf] x|f; Degradation of cultural heritage 

 

Group-B 

1= r'DasLo zlStsf] x|f; x'g] Pp6f sf/0f n]Vg'xf];\  . Write a cause of demagnetization.         (1)  

…………………………………………………………………………………………

………………...………………………………………………………………………

……………………………………………………………………………….. 

2 =OG6/g]6sf] k|of]u u/L taxonomy zAbsf] cy{ vf]Hg] k|lj|mof n]Vg'xf];\ . Write a procedure to find 

the meaning of the word 'taxonomy' using internet.  (1) 

………………………………………………………………………………………

…………………...……………………………………………………………………

……………………………………………………………………………….. 

3. tkfO{Fsf] If]qdf x'g] hn;Dkbfsf] x«f;sf] s'g} Ps sf/0f n]Vg'xf];\ . Write any one cause of the 

depletion of the water resources in your locality.  (1) 

………………………………………………………………………………………

…………………...……………………………………………………………………

………………………………………………………………………………. 
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4. lg:sf;g k|lj|mofsf] kl/efiff n]Vg'xf];\ . Write the definition of the excretion process.     (1) 

………………………………………………………………………………………

…………………...……………………………………………………………………

……………………………………………………………………………..… 

5. dfgj z/L/df vfBkbfy{nfO{ zlStdf kl/jlt{t ug]{ k|0ffnLsf] lrq agfpg'xf];\ . Draw a diagram 

of that system which changes food into energy in human body.           (1)  

 

 

 

 

 

 

 

 

 

 

6. olb j'mg} 7fpFdf r'g9'ª\uf, l;ª\ud/d/, :n]6 / u|]gfO6 k|z:t dfqfdf /x]5g\ eg] pSt :yfgdf 

l;d]G6 sf/vfgf vf]Nbf s]sf] k|of]u ug'{kg]{ x'G5 < If there is rich presence of limestone, marble, slate 

and granite, which of them can be used to establish a cement factory ?                               (1)  

…………………………………………………………………………………………

………………...………………………………………………………………………

………………………………………………………………………………... 

7. tfk / tfkj|md Pscfk;df ;DalGwt eOsg klg km/s 5g, o; egfOnfO{ b'O{ tYo;lxt 

k|dfl0ft ug{'xf];\ . Although the heat and temperature are related to each other, prove this 

statement with two facts.  (2) 

 

………………………………………………………………………………………
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…………………...……………………………………………………………………

……………………………………………………………………… 

8. lrlsT;f If]qdf uf]nf] P]gfsf] Pp6f pkof]u n]Vg'xf];\ . Write a use of spherical mirror in 

medical sector. (1)  

…………………………………………………………………………………………

………………...………………………………………………………………………

……………………………………………………………… 

9= lrqdf b]vfOPsf] tŒjsf] ;+o'Hotf slt x'G5 <  What is the valency of the element shown in 

the diagram ?                  (1)                                                                                                                 

……………………………………………………………………………………  
 

 

 

 

 

 

 

 

 


